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voltage Vp? (10%)

1. To complete the cascode mirror for low-voltage operation, what is the voltage range of

the close loop voltage gain Avciose. (15%)

2. Find the open circuit, the open-circuit transresistance gain Ropen, the feedback factor 3, and




—_

52 =%

3. The following circuit shows a folded cascade amplifier and finds the input common-mode

range, output swing, and voltage gain. (15%)
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4. Find the zero frequency (sz) in the following figure. (15%)
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6. Derive the output voltage Vout with respect to Avi, Cin, Vo, and Ch. (15%)
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7. Find the minimum voltage gain Ao and wosc With respect to mo for the following figure.
(15%)
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